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— ARP INM QITY YD 2ITY ROINT ON
If there are witnesses, let us see what the witnesses say

OVERVIEW'

X217 cited a Xn*>M2 in support of 727 (against? **ax) that an 12X has a apm if there
were no 0°7¥ when the item was given to him,* even if 7x%7.* The Xn>12 rules that
the 1K is believed in a case where there is a dispute between the 12X and the
2"7v3, what was the price they agreed upon for this job. &27 asked if there were
0’7y present when the 2"7v2 gave the item to the 12X, we should ask the 2>7v what
was the agrees upon price. This would indicate that there were no o'7v at the
transfer, and therefore the 12X is believed (even if X7).

mooIn explains the question of 121 77y XKT °K':
= TR TDINIT SNRINPN YT INTIT

For the o7y certainly know the price for this is what is common —

n1voIN asks:
= 89995139 1D NN NI NOYTYT PNYY 139297 NN

The "7 is astounded! X271 should have asked even better -
= 10AN9 XDA NNPIND AINYIN PY0N KD ININT NN DITY NIIN INT

‘for if there are 2°7» who witnessed the transaction and also mN%’; (M0
explains why we assume that there were 27V and 7X7) for as of yet it did not

enter our minds to establish the Xn*72 in a case of 7R XY -
- 12953 11515507 PIN P399 INAN 19 ON

!'See ‘Overview’ to the previous man3 11"7 'oIn.

2 »ax maintains that the 721X is believed only if 781 X2, but not by 7%, regardless whether there were 0°7v or not.

3 The 1R is believed with a 1» of 2"77%. See 7ar 1"7 X,7n 'O, that 2"77% here means that ‘I never received this

item MR N2 ..

4 7%1 means that there are witnesses who saw the item by the 18, at the time of the 770 7°7.

3 Seemingly what is the question; perhaps there were 07y by the transfer, but they do not know the price.

6 See 7ar "7 X,7n '01n (TIE footnote # 16, 17).

7 Presumably the 07y were brought to witness the transaction, so they were told the details; the price, etc.

8 See footnote # 16.

9 See footnote # 4.

101t is only when we refute the proof of X271 (on ®,1) that »2x establishes the X012 by %1 X2, however initially in

the proof of X217, we assume that the Xn>12 is in a case of 7X".

' A marginal note amends this to read n°»vnw> (instead of N°HVW)

12 moon question is why does X317 ask 07y X2°X7 X let us ask them how much was the 7¥°%p, when there is a

stronger question; for 0°7v 83°X7 °R and 71i&7, how can the Rn»72 state that the 12X is 71°7n; the 19X cannot verify his
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‘If indeed it is so’ (that X7 7Y X2°X) — the question should continue — ‘why is the

12X believed when the garment is in his possession’ -
- 183935193 1382499 1227157 DX1TY X572 NY P 7295 Niabwa 913919 199 MmN 29

And this is what X237 should have said; it is understandable according to 729,
who will establish this Xn»72 in a case where there are no 2%7v by the

transaction, in which case the 72X is believed according to (X27) [7729] with a wo»
of 2"71% (even if 71X") -
- 129192 P20 NY D19 XYY 192 1Y NIINT 173 1605 591 N 159%aNY NN

However according to 2K (that it all depends on 7iX7), how will he establish this
Xn»72, for whether there are 2°7¥ and whether there are no 2°7¥ to this
transaction, the 721X is not believed with a %% of o"77%, since it is 7x".

MOD0IN answers:
= ©7Y NIINT IN INRP 91T 990 v

And one can say; that this indeed is what X217 is saying; ‘if there are 237y’ for the

transaction -
= 1789 XD 19599 12511 JIIN D¥TY NIINT 2) DY GNT 1MNYNRY NNN)

So the Xn»M2 is coming to inform us that even though there are 27y,
nevertheless the 328 is believed, and this is in a case where for instance it was X
AN (which would support the view of »2R); this cannot be, for as X237 continues -
= Y9NP INND DITY IINY
‘Let us see what the 07V say’; why believe the 131%, when we can verify with o7y -
= IN NDTA MIPIND 19819 XY 10T D7Y RIIT IND NON
‘Rather, is it not so; for there are no 2°7¥’°, so now you can no longer establish

the Xn>12 by 787 XY (and no o>7Y) -
= YITIN DIV IND 1PN ¥11990107 NN XD DY XD 957 NVIV )7 ¥IWN XP NN 19 ONT

For if indeed it is so (that X7 X7 2>7v 82°%) what is the Xn>92 teaching us?! It is
obvious that where 1782 891 27 X>°% that the 12X is believed, and there is no

claim and he also has no 13°» (there is no need to ask the 0*7v)?
13 A marginal note amends this to read 1277 (instead of 821?).
14 See footnote # 3.
15 See footnote # 2.
16 The advantage of the way mpoIn presents the proof, over the way the X n3 presents it, is that according to the X7n3,
we could possibly answer that there were 0>7v, but nevertheless we cannot ask them because perhaps the 2>7¥ do not
know the price; however the manner in which npon presents the question, the knowledge of the 0*7v is irrelevant.
See nwn Nl
17 Everyone agrees that if "7 277y XX, the 172X is not 1K1
18 The 1% has a 1wn of 0"77%; he could have said, ‘I do not have anything of yours’.
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novelty at all in such a ruling -
= 199935111 19N 291 199N NI 299N INT) NN

Rather the Xn>92 is certainly discussing a case of 78" (and 0°7v X>*9), and
nevertheless the 2R is 3%%7%; proving 127 correct and disproving *ax —

mooIn continues with the explanation of the Xm3:%°
- VYN DIVD XYY 21 KDY NI KDY D21 X572 ©DI1vY 2w
And the X3 answers on behalf of »2x, that really there are no 2°7v and it was X

789, and indeed the Xn>72 did not teach us any 21757 in the Xw°9, as X1 asked -
=99 NN NIT IIMINYND P27 NOYD DIVMN NIN

Rather the reason the Xn°12 mentions the XYM, 1s because he wanted to inform

us the ruling in the X230 in the case where the 72X gave back the item to the 2"7va

(where there is the distinction between 11212 and 1112 X5W), therefore -
= 21NN NVYWOT 2) JY 4N 1IN 192 NHYIVNY AT D XYW ) NN

The xn»72 also taught us the Xw>9 regarding the ruling that as long as the
garment is in the possession of the 2R, he is believed, even though this is
obvious since X7 X2 277V XY,

Moo responds to an anticipated difficulty:
— D NN ROV VP INNN AN 2IWNT INNI MYPNY PPN)

And regarding how the X723 answered on behalf of »2& (that the X1 is in a case
of X1 XY 7Y X2°Y), one cannot ask, why does the X2°© mention a case where

the 7mIX gave it back to the 2"nva -
- 299N 452 YDAV 29 HY AN 1153 1IN 2INNY 1Y YN

The xn>12 should have taught a case where it was seen in the s'121X possession,
so even though the n°%u is in the s'}12IX possession the 2% is not believed —

Mmoo responds that this is not a difficulty:
= 230R97 N2 79 NN NN XY NNT

19 The 1% has a 2 of 0"771%; meaning that ‘I never received it from you max 102’ (see footnote # 3).

20 How does »ax answer this question by merely saying it is a case of 77 X?; but what is the w17°n?!

2! The xw™ sort of “sets the stage’ for the X9°0; as long as the 72X has it he is believed (by %1 X1 077y X2°%; which is

obvious), however once he returns it to the owner, there is a difference between 11112 and 112 Xow

22 The Xw™ is in a case where the N"9v is 787 72 and he is believed (since X7 XY), the contrast (where the 12X is

not believed) should also be in a case where the item is 72X 72 (and 7%7), why make the contrast in a new case

where 12 m1n1?! See ‘Thinking it over’ # 2. However, according to 1127 there can be no question, for the Rw is

discussing a case of 7% and the 12X is believed. The contrast is only by 17 70

23 moon explained previously that according to *ax there is no w171 in the Xw™ of the 71wn (that by X271 X7 K?

o7y the 1K is believed), rather the Xin wanted to teach us the 89°0, the difference by 12 nin1 whether it was 12 or
3
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For the Rin is not interested in teaching us anything about the rules of 178" -
$IN99 DY 1Y NINOY 998 5050 249199 NINIS 93 ARIT PPN NN ID NN NP 190D

So therefore the Xn>>12 taught ¥» 7an3 (which is what he wishes to teach us), and it
is self-understood that the same ruling applies to 7189 as well, for X" is like 72n3,
for once it is 71X7, the 12X is required to return it to him even against his will.

SUMMARY
The thrust of s'%27 question is that there is no ¥17°17 in the X1 according to " 2X.

THINKING IT OVER
1. What changed in our understanding of s'®27 proof/challenge, from the way it
was understood in N1BOIN question, to how it is understood in N1BOIN answer?

2. mooIn writes that Mwpa? X1 why the ®n>>72 does not teach concerning nx;°
what is the question; why should the Xin state the ruling of X7 (where there can be
no difference between 13212 and 12112 X7W),%7 rather than the ruling of 1% 7an1 where
he differentiates between 1n12 and nra xHw?!1%

At IRY (and the Xw™ was merely like an ‘introduction’ to the X9°0), therefore there can be no question why not
mention 7X7, for this was not the purpose or intention of the Xin.
24 moon is adding (to reduce further the question posed by the mwpi? PRY) that once we know the ruling by 12 mana,
we also know the ruling by 1%, since X1 is the equivalent of 771n3; it can no longer be considered 1871 Mw73, once
it is X7, since he must return it to the 2"nva.
25 A marginal note amends this to read *7w (instead of rw).
26 See footnote # 22.
27 When it is in the possession of the 72X (even if he finished the work and told the owner to pick it up), it is always
considered 1nra; the 2"7va is not 72w on PN 2.
28 See nwn noma.
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